KYEET K EAR DRIFERER
BRIBUETT © RYERTHS5)

FRREIRE (R LV, %0/ 7h) W REIREE (R LV, %) 7 k)

W E H B BURYEa U (B BRSE) HE H B B E 3R (R RS YE)

TE: e A (o ) TEE e (o )

R2 AHgEH (0. 37) R5 AR (0. 37)
4 A 8H A (0.51) 1 A5 H AR (0. 44)

R2 A (0.32)
TH1H AR (0.47)
R2 A (0.32)
104 7H A (0. 40)
R3 A (0.28)
1H6H A (0. 45)
R3S AHEH (0. 45)
4 A 14 H A (0. 64)
R3 ARy (0.37)
THTH AHEH (0. 43)
R3 At (0.37)
10 A 6 H A (0. 40)
R4 At (0. 30)
1H5H A (0.52)
R4 At (0. 35)
4 H6H AHH (0. 45)
R4 g (0. 36)
THe6H At (0. 50)
R4 AR (0. 37)
10 H5H AHEH (0. 46)

$e1) FEYER AT T = v #E 3007 LV %0755 (fkEkAK)
Rt A 10_7 UL *u)Fh (FBEAK)

X2) IKIEKDIENE S 3275 10077 LV, %0)7 0% B2 2581208, HLsh Rk ¥l 2 K
KTENLTHRICEZ 2%, HLIRICKDKEKOERZEZ L Z L LI TVD,

%3) H AR+ )W FEBR FEEAR 1 T o




